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Time: 2 ' hours Marks: 75

Note: 1) All Questions are compulsory.
2) Figure to the right indicates full marks.

1. A Choose the correct alternatives (any eight) (08)

(1)  Liberalisation is based on ideas.
(Capitalist, Socialist, Communist)

(i)  Economic liberalisation was adopted by Prime Minister
(Mr. Manmohan Singh, Mr. Rajiv Gandhi, Mr. Narasimha Rao)

(i)  Article of the Constitution abolished the practice of untouchability.
(15,16, 17)

(iv)  The objective of Right to Freedom of Religion is to sustain the principle of
(Communalism, Regionalism, Secularism)

(v) factor is formed of all living organism.
(Biotic, Abiotic, Robotic)

(vi) directly feed on producers.
(Herbivores, Omnivores, Carnivores)

(vii) _ arises when goal directed behaviour is blocked or thwarted.
(Frustration, Stress, Conflict)

(viii) ~ Eustress is also known as
(Positive, Negative, Neutral)

(ix) means forming close associations with trusted friends and co-workers.
(Networking, Relaxation, Social support)

(x)  Win-Win is the outcome of strategy.
(Collaborating, Compromising, Smoothing)

1. B State whether the statement is True or False 07)

(i)  The process of moving for a period of time in response of labour or climate
conditions is called asseasonal migration.

(ii)  In India, the concept of privatisation gained importance in the post reform period
since 1991.
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(iii)  Magna Carta was signed in 1215.
(iv)  Article 14 of Indian Constitution provides for Equality before Law.
(v)  Overuse of the renewable resources for short gain may shorten a country’s long
term economic future.
(vi)  Degradation occurs when earth’s natural resources are depleted.
(vil)  Stress aggravates diabetes. ' 8
(viii)  Intergroup conflict occurs within an individual.
(ix)  Addressors do not possess risk taking attitude. .
(x)  Concealers don’t believe in taking risks.

Mt is liberalisation? What are the benefits and limitations of liberalisation? (15)
Explain the conéept of globalisation? Exarﬁine the impact of gloBalisaﬁon on
employment. ' e

3’Deﬁne Human Rights. What are the characterisfics of human rights? ‘ (15)

o

- QR '

Briefly explain F unddfnéntal,mghts as enshrined in Indian Constitution.

/4./What is environmental degradation? What are its causes? (15)

Discuss the imp’brtan¢e,6fréthi§s'in. an ipdiVidual’s development.

)/&plain various stratf;gies fof coping with conflict. (15)

“OR

Write short note on (any three):

_ @y Causes of migration -

(b)

Magna Carta’ &3

_AT  Need for sustainable development

(d)
(€)

Causes of stress
Types of individual conflicts
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